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w1 T H 242 272 281 553 | 4 WHAT5 T H 528 590 603 1,193 % BT 7 T H 1,241 1,616 1, 450 3, 066 |Fi A T3] H 216 277 263 540
B W 2T B 382 407 405 812|T » WEMT6 T H 382 407 423 8303 BT 8 T H 509 631 612|  1,243|/h | 4,520 5,350| 5,405| 10,755
B w3 T A 292 350 341 691 s 9,528| 10,731 10,706 21,437|% BT 9 T H 1,001 1,202 1,105 2,307 f=E1TH 98 106 108 214
FE4ET1T B 151 157 139 296 | IE 595 651 693 1,344RSHT1 T H 127 119 114 233| _RE2T H 318 370 380 750
P45 ET2 T B 94 80 83 163|% L HT 1T H 315 408 390 798| K JA M7 2 T H 354 389 397 786| _RE3T H 271 312 333 645
P4 ET3 T B 128 151 175 326|% W72 T H 607 703 667 1, 370 5 8,691| 10,534| 9,637 20,171| %24 T H 126 127 145 272
£ L HT 285 270 291 561|%F T3 T H 1,462 1,511 1,444 2,955|W 0BT 1T H 799 905 877  1,782| {RE5T H 92 116 120 236
N HT 421 435 448 883|% E T4 T H 756 797 754 1,551 (3BT 2 T H 293 380 338 TI8[R H 1T H 75 78 79 157
fip L) 211 213 228 441k M1 T H 792 915 881 1,796 [{r] D BT 3 T H 232 264 269 5333 2 T H 125 145 144 289
1= T 131 121 135 266( K P9 2 T H 331 414 401 815 [T M 4 T H 739 741 717 1,458|R F 3 T H 121 127 106 233
* F W 174 213 216 429k 4 3 T H 693 839 864 1,703 [{r[ JD BT 5T H 722 733 723 1,456 |4 & A W7 182 164 201 365
= fF HT 453 474 517 991 |t i 422 394 468 862 T 6 T H 1,246 1,353 1,316 2,669|f & 1 T H 60 52 53 105
K o WE OHT 516 555 571 1,126 |4 52 422 511 544 1,055 BT 7 T H 1,098 1,079 1,144 2223|180 &2 T H 71 78 75 153
W/ kT 319 316 331 647| A B F 1T H 271 330 331 661 [ BT 8 T H 795 875 734 1,609|81 & (L 37 62 76 138
KB HET 520 571 552 1,123k % F2 7T H 245 333 347 680 [T BT 9 T H 939 880 961 1, 841 |/ aH 1,576 1,737 1,820 3,557
HinfnE1T B 213 216 239 4554 ¢ 1 T H 515 740 704 1,444 ({0 BT10T A 869 787 749 1,536|= [ 1T H 392 280 312 592
HmEfnHE2T H 273 305 322 627|145 FF 2 T H 114 152 139 291 Ea 7,732  7,997| 7,828| 15,825|% [ 2 T H 87 97 93 190
HmEfiHE3T H 304 372 386 758|454 F 3 T H 330 454 408 862(fk & 1 T H 178 192 209 401|% [ 3 T H 243 181 178 359
Ft 5,109| 5,478| 5,660 11,138|4 ¢ 4 T H 566 750 714 1,464|8E 1G5 2 T H 995| 1,323 1,246  2,569|/h& K1 T H 88 119 95 214
B AKRTL T H 235 275 283 5584 3 5 T H 468 631 627 1,258 |8 #& 3 T H 345 436 438 874/ RK2T H 49 57 57 114
By AmT2 T H 366 412 411 823 s 8,904| 10,533| 10,376| 20,909|4 H 1 T H 1,343 1,505 1,507|  3,012|/h@ K3 T H 176 216 216 432
B KET3 T H 210 275 264 539 F M1 T H 482 448 533 9814 # 2 T B 988 1,092 1, 169 2,261 (/N A4 T H 239 185 249 434
El1TH 686 695 711 1,406 |3 & M2 T H 815 780 842 1,622|14 # 3 T H 877 994 971 1,965/ K5 T H 75 77 93 170
Ei2TH 729 882 863 L7453 & M3 T H 1,075 1,097 1,089 2,186(4 H 4 T H 0 0 0 O R 1T H 278 191 254 445
EMWM3TH 387 510 521 LO3L|IW & M4 T H 716 680 677 1,357(4 # 5 T H 181 52 161 23| R 2T H 256 299 290 589
Ei4TH 796 850 963 1,8I3|W & M5 T H 973 947 963 1,910 G 4,907 5, 594 5,701 11,295[H R 3 T H 245 189 239 428
EW5TH 526 538 544 1,082|) & M6 T H 394 443 406 849 /1N | 52,595 58,683 57,861 116,544 (/)N G 2,128 1,891 2,076 3, 967
E e T H 256 216 303 5194 » M1 T H 414 455 450 9054 1 T H 352 429 394 823 A1 T H 245 190 264 454
EW7TH 490 529 474 1,003[#R » fi2 T H 791 703 830 1,633 2 T H 420 471 488 959 A 2 T H 388 274 296 570
E 8T H 274 306 305 611|Af [ BT 1 T H 331 411 389 80014 3 T H 438 545 537 1,082[p A 3 T H 107 127 126 253
EW9TH 3 4 3 7|6 [ BT 2 T H 706 813 807 1,620(Fn HHET 1T H 219 263 256 519(p A4 T H 62 59 56 115
KHET1TH 308 355 349 704 |fifi fi BT 3 T H 564 594 543 1,137(fn HET2 T H 283 336 347 683[ A5 T H 72 71 75 146
RKHEWT2T H 352 335 317 652 |ffi [E BT 4 T H 463 445 424 869|fE # 1 T H 153 201 196 397\ A6 T A 36 46 47 93
RKHEBT3T H 309 404 375 779 Gl 7,724 7,816 7,953 15,769(HF #F 2 T H 165 198 221 419\ A7 T A 70 84 83 167
K HEWT4T H 305 379 378 757%r BT 1 T H 1,174 1,421 1,313  2,734|# 48 3 T H 173 222 210 432|pk A8 T A 98 120 94 214
K HEHBTS T H 308 347 367 7148 BT 2 T H 754 957 811 1,768(HE 4% 4 T H 220 257 256 513 [/ 2 1,078 971 1,041 2,012
T WERT 1T H 664 755 765 1,520 ] 3 T H 1,536 1,728 1,520 3,248\ # 5 T H 503 626 651 1,277 [H 38 pr & &t 9,302 9,949( 10,342 20,291
T WHET2 T H 543 634 613 1,2478 BT 4 T H 716 833 803 1,636 |#E %5 6 T H 512 668 589|  1,257|& 2 61,897| 68,632| 68,203 136,835
T WERT3 T H 402 501 435 936(¥r T 5 T H 1,181 1,510 1,385 2,895 |4l AR BT 1T H 374 435 441 876
T WERTA T H 469 532 436 963[%¥r T 6 T H 98 128 127 265 |l AR 2 T H 492 422 556 978




